CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.							
, Britt Raybould	, hereby request station time as follows:							
IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE							
	E OR LOCAL CANDIDATE							
ALL QUESTIONS/BLOCI	CS MUST BE COMPLETED							
Candidate name:								
Britt Raybould	en e							
Authorized committee:								
Britt Raybould for Idaho								
Agency requesting time (and contact information):								
N/A								
Candidate's political party:								
Republican								
Office sought (no acronyms or abbreviations):								
State Representative								
Date of election:	General 🗸 Primary							
May 21, 2024	International International 7							
Treasurer of candidate's authorized committee:								
Ron Walker								
The undersigned represents that:								
(1) the payment for the broadcast time requested has been fu	rnished by (check one box below):							
the candidate listed above who is a legally qualified ca	ndidate, or							
the authorized committee of the legally qualified cand	idate listed above;							
(2) this station is authorized to announce the time as paid for l	by such person or entity; and							
(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion								
and other sales practices (not applicable to federal candida								
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	CRIMINATION ON THE BASIS OF RACE OR ETHNICITY							
Candidate/Committee/Agency	Station Representative							
Signature:	Signature:							
Britt Raybould 2024.04.24 16:36:48 -06'00'	July ralker							
Name: Britt Raybould	Name: Keith Walker							
Date of Request to Purchase Ad Time: 4-24-24	Date of Station Agreement to Sell Time:							

The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.								
NLY								
every ad with differing copy).								
N/A								
)*								
mplete.								
Date Received/Requested: 4.24.24								
Run Start and End Dates: 4,25 - 5,21.24								
reflecting this transaction to the OPIF or the rates charged and the classes of time I until an invoice is generated, the name I in the "Terms and Disclosures" folder in								

Federal Candidate Certification:

Sales Order

Stations:

KQEO-FM, KUPI-FM, KAOX-FM

Buyer:

Contract Name: Britt Raybould for Idaho 24

Tax Schedule:

(None)

Contract#:

(none) Agency Commission %: 0

Start Date:

4/26/24

Revenue Type: Local Direct

End Date:

5/21/24 Billing Cycle: Calendar

Comm %:

20

Type: Cash Salesperson: 1414kwal

Advertiser:

Britt Raybould for Idaho

Makegood Policy: Within Contract Dates

Address:

City:

301 N 1500 E

St Anthony

State: ID Zip:

83445

Product Name: Primaries

Competitive Code: Political

KQEO-FM

No	DAT	ΓES	Alt	TIM	1ES	LEN		DISTRIBUTION								DATE	ТО	TALS	DTV
INO	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	4/26/24	4/26/24		6:00 AM	7:00 PM	30	:				4			4	D	12.00	4	48.00	
2	4/29/24	5/03/24		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	12.00	20	240.00	
3	5/06/24	5/12/24		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	12.00	20	240.00	
4	5/13/24	5/19/24		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	12.00	20	240.00	
5	5/20/24	5/21/24		6:00 AM	7:00 PM	30	4							4	D	12.00	4	48.00	
6	5/21/24	5/21/24		6:00 AM	5:00 PM	30		3			-			3	D	12.00	3	36.00	
						•										Cut off 5p	m Election I	Day	

TOTAL GROSS \$852.00, NET \$852.00

KUPI-FM

No	DA	ΓES	Alt	TIM	IES	LEN				D	STR	BUT	ON			RATE		OTALS	PTY
140	START	END	wks	START	END	LLIV	М	Т	W	Т	F	SA	SU	Per Wk	D/W	NAIE	SPOTS	\$\$	
1	4/26/24	4/26/24		6:00 AM	7:00 PM	30					4			4	D	14.00	4	56.00	
2	4/29/24	5/03/24		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	14.00	20	280.00	
3	5/06/24	5/12/24		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	14.00	20	280.00	
4	5/13/24	5/19/24		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	14.00	20	280.00	
5	5/20/24	5/21/24		6:00 AM	7:00 PM	30	4							4	D	14.00	4	56.00	
6	5/21/24	5/21/24		6:00 AM	5:00 PM	30		3						3	D	14.00	3	42.00	
	Cut off 5pm Election Day																		

TOTAL GROSS \$994.00, NET \$994.00

KAOX-FM

No	DA	TES	Alt	TIN	MES	LEN				DI	STRI	BUTI	ON			RATE	TC	TALS	DTV
INU	START	END	wks	START	END	LEIN	М	T	W	T	F	SA	SU	Per Wk	D/W	HAIL	SPOTS	\$\$	PTY
1	4/26/24	5/12/24		6:00 AM	7:00 PM	30					5			5	D	21.00	15	315.00	
2	4/29/24	5/03/24		6:00 AM	10:00 AM	30	5	5	5	5	5			25	D	21.00	25	525.00	
3	5/06/24	5/12/24		6:00 AM	10:00 AM	30	5	5	5	5	5			25	D	21.00	25	525.00	
4	5/13/24	5/19/24		6:00 AM	10:00 AM	30	5	5	5	5	5			25	D	21.00	25	525.00	·
5	5/20/24	5/21/24		6:00 AM	10:00 AM	30	5	5						10	D	21.00	10	210.00	

Billing Projections: By Month

Apr 24 May 24
CA 627.00 3,319.00
ST 209.00 3,737.00

Print Spot Prices

TOTAL SPOTS	242
GROSS TOTAL \$	3,946.00
ADJUSTED SPOTS	242
ADJUSTED TOTAL \$	3,946.00

APPROVE	DECLINE	
\supset	\bigcirc	Traffic
\supset	\bigcirc	Sales Manager
\supset	\bigcirc	Credit
\supset	\bigcirc	Local Sales Manager



CREDIT CARD PAYMENT FORM

Account Manager: Walker	_{Date:} 4-24-24
Advertisers Name: Britt Raybould for Idaho	
Address: 301 N 1500 E, St. Anthony, ID 83445	
*Please write the address that the c	redit card bill is sent to.
Contact Name: Britt Raybould	_ Phone Number: 208-419-0768
Cardholders Name: Brittney Raybould	
Card Type: ☐ Master Card	:r
Card Number: XXXXXXXX2236	CVC / Security Code: 830
Expiration Date: 11/24	Payment Amount: \$ 3,946.00
Payment Notes:	
Email Receipt: ■ Yes ■ No Email: hello@britt4idaho.con	n
Fax Receipt:	